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3. [F 1+ 3,380 3,380 0
1.¢ 1,180 1,180 0
gk 200 200 0
2,000 2,000 0
2.1 ) FA4 55,839 54,903 936
1.3 A 74 55,839 54,903 936
1.[2]3F8a2AAT = 32,404 32,404 0
1. 19,000 19,000 0
7,200 7,200 0
6,204 6,204 0
2. (214 540 540 0
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3. (%14 4,812 4,635 177

4,812 4,635 177\ A7 b & A F ¢ 177,000 1 3=
4. [Z2]1A 14,673 14,284 389

AANEI) A A D FA}

14,673 14,284 389 ég‘;j%;)gfﬂ; e R et
5.[%]1% 3,410 3,040 370
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3.3 e #e 3,300 3,300 0
1.3 -394 800 800 0
1.[x=]8w 800 800 0
800 800 0
2.3 gy 2,500 2,500 0
1.[%]8 2,500 2,500 0
1. 600 600 0
900 900 0
1,000 1,000 0
7.8 AFLE 209 209 0
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1. efu]H] 209 209 0
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INESE LIE] 109 109 0

1.ejn)n) 109 109 0

2. [2]FA A 100 100 0

1.<jB)n) 100 100 0
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